ORDER: AUTHORIZE APPROVAL OF CHANGE ORDER # 5 FOR SISK AVENUE CONSTRUCTION

Motion was made by Chad McLarty, duly seconded by Brent Larson, to authorize approval of Change Order #5 for Sisk Avenue Construction.

The vote on the motion was as follows:

Supervisor Brent Larson, voted yes Supervisor Larry Gillespie, voted yes Supervisor David Rikard, voted yes Supervisor Chad McLarty, voted yes Supervisor Mike Roberts, voted yes

After the vote, President Roberts, declared the motion carried, this the 1st day of June, 2020.

Mike Roberts, President Board of Supervisors Sherry Wall Chancery Clerk

Change Order No. 5
Date: April 27, 2020
State: Mississippi
County: Lafayette

CONTRACT CHANGE ORDER

CONTRACT FOR	: Sisk Avenu	e Extended		
OWNER: La	fayette County ar	d City of Oxford, Mississippi		
To: M&N Exca	vators, Inc.			
You are hereby req	uested to comply	(Contractor) with the following changes from th	e Contract Plans and Specifications	
Description of Char (Supplemental Plan Specifications Attac	is and	Decrease in Contract Price	Increase in Contract Price	
See attached sheets	for pay item brea	ikdown		
Roadway Pay Items Alt. 2 Water/Sewer		\$56,740.53 \$702.88	\$239,568.45 \$15,766.15	
TOTALS:		\$57,443.41	\$255,334.60	
Net Change in Cor	ntract Price:	\$197,891.19		
JUSTIFICATION:	See attached she	et.		
The amount of the ONINETY Seven Thous	Contract will be (sand Eight Hundr	Decreased) (Increased) (Unchanged ed and Ninety One and 19/100s	b) by the Sum of One Hundred and Dollars (\$197,891.19)	
The Contract Total Thousand Three Hu	including this and ndred and Twent	l previous Change Orders will be For Nine and 06/100s	our Million Nine Hundred and Ten Dollars (\$4,910,329,06)	
The Contract Period	I for Completion	will be (Decreased) (Increased) (Un	changed) byDays	
This document will	become a supple	ment to the Contract and all provision	ons will apply hereto.	
Requested:	equested: (Owner)		(Date)	
	(Ow	ner)	(Date)	
Recommended:	(Owner's En	gineer)	(Date)	
Accepted:	<i>i</i>	Mal	4/28/2020	
• —	(Cor	ntractor)	(Date)	

Sisk Avenue Extended Lafayette County and City of Oxford, Mississippi

Change Order No. 5 Attachment

Deletions:	•				
<u> </u>	Roadway Pay Items				
S-202-B	Removal of Inlet	1.00 Each @	\$341.82	\$341.82	
S-202-C	Removal of Concrete Curb and Gutter	400.00 LF @	\$3.42	\$1,368.00	
S-202-D	Removal of Concrete Paved Ditch	173.50 SY @	\$5.70	\$988.95	
S-304-A	Granular Material (LVM)(Class 9, Group D)	47.00 CY @	\$10.82	\$508.54	
S-603-C-A	18" Reinforced Concrete Pipe, Class III	33.00 LF @	\$ 33.61	\$1,109.13	
S-608-A	Concrete Sidewalk (8" Thickness)	0.60 SY @	\$80,23	\$48.14	
S-609-B	Concrete Curb, Type Header	82.00 LF @	\$28.47	\$2,334.54	
S-630-B	Reflectorized Traffic Regulatory Sign (Enc. Lens)	4.00 Each @	\$324.73	\$1,298.92	
S-630-G	Reflectorized Traffic Warning Sign with Supp.	1.00 Each @	\$398.79	\$398.79	
	Plate (Enc. Lens)	_			
S-226-A	Solid Sodding	1,580.00 SY @	\$4.36	\$6,888.80	
S-229-A	Portland Cement Concrete Paved Ditch	19.56 CY @	\$545.40	\$10,668.02	
907-237-A	Wattles, 20"	2,000.00 LF @	\$4.53	\$9,060.00	
S-815-A	Loose Riprap, 300 Lb.	250.94 Ton @	\$47.85	\$12,007.48	
S-815-E	Geotextile Under Riprap (Type V)(AOS 0.21mm -	676.00 SY @	\$2,28	\$1,541.28	
	0.43-mm)	•			
	Alternate 2 Water/Sewer Pay Items				
901-S-502-C	Sewer Manholes, Extra Depth	0.40 VF @	\$173.19	\$69.28	
901-S-502-D	6" Sanitary Sewer Force Main	36.00 LF @	\$17.60	\$633.60	
	Supp. Agr. 2 Pay Items	•			
901-S-502-D	8" PVC Sanitary Sewer Force Main Installation	100.00 LF @	\$17.41	\$1,741.00	
901-S-502-F	Tracer Wire	100,00 LF @	\$0.78	\$78.00	
	Supp. Agr. 3 Pay Items	•			
907-636-B	Electric Cable, Underground In Conduit, IMSA	4.00 LF @	\$3.08	\$12.32	
	20-1, AWG 8, 3 Conductor	J			
907-636-C	Electric Cable, Aerial Supported, IMSA	290.00 LF @	\$2.46	\$713.40	
	20-1, AWG 14, 8 Conductor	_			
907-637-C	Traffic Signal Conduit, Underground, Type 4, 2"	135.00 LF @	\$11.07	\$1,494.45	
907-637-D	Traffic Signal Conduit, Underground Drilled or	35.00 LF @	\$19.68	\$688.80	
	Jacked, Rolled Pipe, 2"	_			
907-637-D	Traffic Signal Conduit, Underground Drilled or	165.00 LF @	\$20.91	\$3,450.15	
	Jacked, Rolled Pipe, 3"	_			
	•				
	Subtotal Deletions:				
Additions:					
	Roadway Pay Items				
S-202-D	Removal of Asphalt Pavement, All Depths	475.40 SY @	\$4.56	\$2,167.82	
S-203-A	Unclassified Excavation (FM)	15,915.00 CY @	\$2.90	\$46,153.50	
209-A	Geotextile Stabilization, Type V, Non-Woven	419.00 SY @	\$2.28	\$955.32	
S-304-A	Granular Material (LVM)(Class 4, Group C)	33.50 CY @	\$45.41	\$1,521.24	
S-304-D	Crushed Stone	973.30 Ton @	\$38.45	\$37,423.39	
S-403-A	Hot Mix Asphalt, MT, 12.5-mm Mixture	465.30 Ton @	\$98.12	\$45,655.24	
S-403-A	Hot Mix Asphalt, MT, 19-mm Mixture	261.22 Ton @	\$92.84	\$24,251.66	
S-601-B	Class "B" Structural Concrete, Minor Structures	7.239 CY @		\$13,369.42	
S-602-A	Reinforcing Steel	59.00 Lb @	\$1.42	\$83.78	
S-603-C-A	24" Reinforced Concrete Pipe, Class III	10.00 LF @	\$43.53	\$435,30	
S-608-A	Concrete Sidewalk (4" Thickness)	2.20 SY @	\$46.59	\$102.50	
				_	

Sisk Avenue Extended Lafayette County and City of Oxford, Mississippi

Datayette County and City of Oxford, wississippi									
Change Order No. 5 Attachment									
S-616-A	Concrete Island Pavement	25.90 SY @	\$62.12	\$1,608.91					
S-621-B	6" Wide Thermoplastic Traffic Stripe (Cont. White) (90 Mil)	0.533 MI @ \$	4,557.60	\$2,429.20					
S-621-C	6" Wide Thermoplastic Edge Stripe (Cont. White) (60 Mil)	0,324 MI @ \$4,557.60		\$1,476.66					
S-621-E-2	6" Wide Thermoplastic Traffic Stripe (Cont. Yellow)(90 Mil)	0.735 MI @ \$4,557.60		\$3,349.84					
S-621- G-1	Thermoplastic Detail Stripe (6" Equiv. Length) (White)(90 Mil)	3,450.00 LF @	\$3.42	\$11,799.00					
S-621-G-2	Thermoplastic Detail Stripe (6" Equiv. Length) (Yellow)(90 Mil)	677.00 LF @	\$3.42	\$2,315.34					
S-621-H-2	Thermoplastic Legend (White)(120 Mil)	170.40 SF @	\$11.39	\$1,940.86					
S-627-K	Red-Clear Reflective High Performance Raised Markers	194.00 Each @	\$11.39	\$2,209.66					
S-627-L	Two-Way Yellow Reflective High Performance Raised Markers	26.00 Each @	\$11.39	\$296.14					
	Alternate 2 Water/Sewer Pay Items								
901-S-501-A	16" Ductile Iron Pipe	216.00 LF @	\$51.63	\$11,152.08					
901-S-501-A	6" Ductile Iron Pipe	10.00 LF @	\$24.21	\$242.10					
901-S-501-A	4" Ductile Iron Pipe	14.00 LF @	\$28.77	\$402,78					
901-S-501-K	Ductile Iron Fittings	538.00 Lb @	\$6.84	\$3,679.92					
901-S-501-L	Tracer Wire	240,00 LF @	\$0.76	\$182.40					
901-S-501-N	Pressure Test, Flush, and Clear Line	240.00 LF @	\$0.34	\$81,60					
901-S-502-F	Tracer Wire	19.00 LF @	\$1.33	\$25,27					
	Supp. Agr. 1 Pay Items		*	4					
S-240-A	Geogrid, Type V Supp. Agr. 3 Pay Items	933.00 SY @	\$4.22	\$3,937.26					
907-636 - B	Electric Cable, Underground In Conduit, IMSA 20-1, AWG 14, 8 Conductor	73.00 LF @	\$2.46	\$179.58					
907-636-B	Electric Cable, Underground In Conduit, IMSA 20-1, AWG 14, 5 Conductor	290.00 LF @	\$2.15	\$623.50					
907-637-C	Traffic Signal Conduit, Underground, Type 4.3"	174.00 LF @	\$15.99	\$2,782.26					
907-639-C	Optical Detector Cable	117.00 LF @	\$1.23	\$143.91					
907-641-D	Radar Vehicle Detection Cable	348.00 LF @	\$3.08	\$1,071.84					
	Supp. Agr. 4 Pay Items		*****						
S-202-E	Removal of Traffic Stripe	298.00 LF @	\$2.85	\$849.30					
	Supp. Agr. 5 Pay Items	0	T: -F-	, , , , , , , ,					
S-203-E1	Borrow Excavation (F.M.E.)(Contractor Furnished)	3,231.00 CY @	\$9.42	\$30,436.02					

Subtotal Additions: \$255,334.60

Reasons:

• Per final installed quantities.

(Class 9)

- Per earthwork calculations from final cross-sections.
- Per undercut measurements for unsuitable soils encountered.
- MDOT required a lift of borrow material be placed on existing soil-cement base of old University Avenue prior to seeding.
- MDOT required an additional 2 inches of crushed stone in paved areas within median on Highway 6 (MDOT previously approved 6 inches, but required 8 inches when work began in median).
- City requested the remainder of Frontage Road (from Project EOP to Cannon Road) be overlaid and striped.